Sefts
A ﬁ’ 1S an unordered collection of

(m&mbﬁ‘s o e\ements

diskinct o\b) ects.
N of the set)

Exs: {15,137
{o,2,0,@]
VNNV NN
N=T7"= {\,’L,S)...-; (potucal nom\uers>
Z={.-1-\,0,\,7,... % (anlfqdexs)

6=07 (emphyseb)

Nofation: T A is a set then

W R N
*3€A means "a is an element of A

W . N
*0¢A means “a is not an element of A

The c_.ovc\‘ma\'\*j of a fimte set A i the
number of elements in A
Notation: 1AL, #A cord(R)
exs: |{1,5,831=3
{2, a8, 0,8,0,031=6
|¢\=0
T A s ur finite then we wreibe \Al=oo.



Two wajs ot d.escr'\hiﬁj sets:
@ Sek roster astation:

List out the elements of o set belween

c,ur\j braces .
Exs: (all preniovs emv«p\c&)

A covple of trickier exomples -

- A={1, 013
elements of A: L and T)\F (\A\:T_)

«A={$,2, To,b7, {1, 11333
elements of At ¢, 7, (0T, LLUIT  (Al=4)



@ Se¥ bulder m'\-o.\"\ on -

S?e,c‘\‘rj o calechion of elemenks

“hich sa\\s‘{-j certoin  Conditions.

Nokation:  {elements : conditions §

-oC -

{elements | conditions ]

Exs:

Z;c,: {ne :nz o (Nm-—‘r\{j ative ‘\r\\~€jCI‘S>
(real mumbers)
Q= (xe®:x=F for some pel, 96N
\Qra‘r\ona\\ numbers )
{xe®: x¢ @3 (icrational numbers)




Subsetg
TE A ond B are sels then we SQ.j hat A is a

subset of B if e.\lerj element of A is olso
on element of K.
Notation:
- ASB means “Ais a subsel of B

* A£B means “Ais not a subset of g

TE A8 and A#F then we sa that A
s o proper subset of B
Noke: Tuwe seds are qum\ i\ and owr\\j it
’(\r\ej have e,}ca.oﬂj the same eloments.
EO\\J\\JQ\CW\'\j ;- A=% if ond m\j i
A= and B=A.



ex:{-é@ but i"¢l
Exst = <@, Wy Q&7
——ex: JZTER bt 2€Q
QelR, bW ReE@
* Yor Qﬂj Se,\‘ A} we have -\-ha.'\'
<A ond AcA
Leb A=$ 0\, (237, Then
(\’igA, Lot \$P\/
and {137 hA, bok {27gA.
Lisk of o\l subseds of A - A
v

¢, 13, {77, {21}





